WAaI MY

27 IR MR 12727 IR 327 IR - the 19 concludes with

two cases of mxn that have houses in between them: 27 Va8 M3N 93 137 VAN 112015 39 N

. Ialmi'yuiial'
raona nwbw mysn nw - when two msn have three ‘Q ’ = ayns nw‘,wq
houses in between them, members of each 931 can place their . e
17y in the middle of the three houses, using the house that - P, 1\’
borders their 931 as a 7w n°2- a gatehouse of the middle 4 hZL
house. :

13295 m2an77> 72 - Rachavah tested the 1327 by asking about \%

a case where there are two houses between two m~xn and
each 73n placed the 217p in the house that was further from it
- do we assume that each 931 can view the house closer to it y

as a 7w n2 and the house further from it as a 2 which can %
house the 217v?

1anb mam o pra

o
N
A

75 1R - the a7 responded -

27V NP RY 7w - the 217v does not work for either one,

because if the homes are considered a 7pw n°3, neither can

host an 217, If they are considered o'n3, each 731 must pass
. through a house that is not included in the 217y, in order to

get to their 117y.

We cannot consider a house to be a n°a for one person and a

9vw 2 for another,

NP fOF OMMMVV

even though we consider mwn»wi Pa to be nighttime for a Wl /(' s
person whose 217 was eaten during mw»wi 13, and we >
consider it daytime for a person whose 217 was first set up MUY V:

/

during w"ma.
NIGHTTIME DAYTIME

eaten setup

The difference is that w”ma includes times that are both day
and night, therefore,

RN RIPH RS -

Itis not a clear contradiction to consider it both night and
day, but a building must be either a house or a 7w 3, not

both! both day & night

not both!
intpt tpp £

. 971 75v 1777 - We have B“H completed the Sixth Perek of 'on

E:};J;Snd will begin the Seventh Perek o, B'ezras 77’-1 151’ 1-“-”
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VIRT the mwn:
MPRA ' Paw pon -
Ifthere is a window in a wall between two my3m:

nw&ﬂ_gjjpw n‘a&'

If the window is 4 by 4 @190 in size, and within 10 o'nov of
the ground, the m~3n can choose to make a single 117y
because they are connected through the window, or separate o
P217v because they are separated by the wall. If the

. window aomov
1S

D190 10 Dv;%lgo

The reason that four o'nov would connect the m7yxm is not
because we assume like 32w that less than onov "7 is 7125,
Rather, it is because a nno is always defined as being 4 o'nov.

The reason for 4 DDV

nno

If the window is either less than 4 by 4 ©nov, or the entire ;7
window is more than 10 oV off the ground, the m~sn are 73
considered separate and must make two separate P217V.
Ifthe
window

DoV 10 15

Separate 217V
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DOV AYIINY DIWY DA RPW I DY PON M2 027 IR -
If the window is round it needs to be large enough to fit a 4 by
4 nov square in the circle.

130 "7 assumes that the *30°p7 37 - the judges of Caesaria - ‘7131’ i'l‘?n

are correct that a circle is 1 and a half times larger than a DYMIB FP2INY DY 1BPND N PR
square inside of'it, so if the 4 by 4 square has a perimeter of 16
onov, the circle around it has a circumference of 24 onov.

A
[ /24 D movY

\
4

SN~

The X713 points out that mathematically the circle that fits a 4
by 4 square inside of it only needs a circumference of 16.8
o'nov.

PN PAw POMROR 1Y RS M3 27 0K -
N3 "7 holds that the requirement for the window to be within
ten omov of the ground is only for a window between two

msn, NON 1 8
MR Y P non

4DM90

DMV 10 e
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but a window between two houses can be higher than ten
onov and still connect the homes, because — o
15T RYIIT IRDI RO - — TE::“Z”
The airspace of a house is considered to be full, and the e

window is therefore always considered to be within 10 ooV,

Although a Xn>12 says that the rules of size and height of a
window apply to all sorts of areas, including roofs, attics,

40M50

houses..., N0 10 s

it only means that the dimensions of a window must be 4 by 4 Itonly means

onov wherever they are, but they do not have to be within the dzmgnszo; 15

ten o'nov of the ground in a house. of awindow 4

omov
D910

Rawr '3 asked yom1 27 whether a 55 a2 p mno 5 - ahole in

between a ground floor and the second floor that is more than

ten o'nov off the ground, needs a ladder to connect the two

areas or not. Do we assume "7 X517 812 k2 would apply .'l""?;)'? na i?: MmN ‘7‘5
. even for a window that is not on a side wall of the house, but

in its ceiling, or not?

N1 27 responded that 930K - it does not need a ladder of

any kind, permanent or temporary, to connect the two areas. > “
-

DoV 10

VIRT the mwn:

YRR N Paw Sma -

When a wall that is at least ten o150 high and four onov
wide separates two Mz, they cannot join a single 217
because they are totally separate from each other.

MRN O Al 5ms
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Y9 IWRIIA P -
If there are fruits on top of the wall, people from both sides
can climb up to eat them since the top of the wall is consid-

ered to be it's own mw, but they cannot bring the fruits down 1'“7"9 'IWN.\: \’ﬂ

into their mxzn.

TR WY TY SMIdN 18793 -
If the wall was breached less than ten mnx, they have the
option of making two 2)7Y since a wall separates the mxn, PN 'WV "1’ snjbn b i
or a single 117Y since there is an opening between the two. Less than 2rO
. 10 PN
IR N -
If the breach was bigger than ten mnR, they have to join in
()
the same 237» and cannot make two separate 217y, because ix:n ‘sl

it is considered as if there is no wall, and they are one 93m.

MORE than
10 MBR 25220

They must make a
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